Figure S3:

CD80, CD86,

CD80 CD86 PD-L1 PD-L2 PD-L1, PD-L2

0 - - - o -
= HR =0.77 (065 - 0.92) 2 HR =086 (0.77 -~ 0.86) = HR =058 (05~ 0.88) 2 HR =072 (061 - 0.85) 2 HR =065 (0.5 - 0.77)
a) logrank P = 0.0037 logrank P = 0.0061 logrank P = 1e-11 logrank P = 8.76-05 logrank P = 7. 1e=07
@ w | o | o @ |
o - - : : °
g—-—
> :ze B3 284 - e | 28 g 34
- B B ¥ N a8
) g ] ] 8 8
g 2 2 g 2
8 < B g < 8 < 8«
Q [ a3 &S [ a3
S | Expression S 7 Exprassion el S | Expression S | Expression
7)) e e — ow .
a | — high o | — high o | o | — high o | — high
— o s 100 150 200 250 o 50 100 150 200 250 100 150 200 280 o su 100 150 200 250 0 s 100 150 200 280
— Time (months) Time (months) Time (menths) Time (months) Time (menths)
J—— [e—— J— J— j—
< o e w w7 ' o e woon e o e wow ! o T CE ' o W w a0 2
2 - o o o
e HR =038 (023 - 0.68) 21 HR=0.44(028-0.7) - HR =027 (0.16 - 0.47) = HR = 0.4 (0.25 - 0.77) =T HR = 0.28 (0.17 - 0.5)
logrank P = 0.00062 g logrank P = 0.00029 logrank P = B.1e-07 logrank P = 0.0028 Wk, logrank P = 2.9e-06
@ 5 o T o | @ N R
< " s+ = e, = o SRS b < \, g NN ° N
< ©
O 2z \\,m ] 23 % 22
| y 3 - 3
32 2 S i
g < | ] - 8o
g3 - £3 &3
2 B o o | o o
S | Expression S 7 Expression S 7| Expression s S 7 Expression
|_ — ow — ow — ow —
- - - ol —
[] 50 100 150 200 [} 50 100 150 200 o 50 100 150 200 0 50 100 150 200 o 100 150 200
Time (months) Time (months) Time (mentfs) Time (months) Time (menths)
[r——— [— [r—— [I——— [——r—
G- o i : ! o ! ! ! S o L H S o : ! S ! B :




